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PART A: Vocabulary

'. Directions: Choose the word or phrase (1), (2), (3), or (4) that best completes em:h

sentence. Then mark your answer sheet,

1- Before you --<--=-e-= to the next question, you should take some time to make sure
vou're happy with your answers so far.

1) prescribe 2) precede 3) proceed 4) pretace
2- My first day of habysitting was an absolute ---------- ; the kids spllled food all over the
kitchen and they wouldn’t listen to anything I had to s:w
1) invasion 2) enigma 3) condemnation’ 4) fiasco
3- We were very unhappy with the --—-—--- way the moving company tossed our boxes
into our new house.
1) haphazard 2) impatient 3) initial 4) neutral
4- The author used -—----—- when he said the dog was “as big as a house.”
1) shortsightedness 2) hyperbole 3) precision 4) pretension
5- 1 never thought you would get so upset about such a --—---- -- matter.
1) contradictory  2) consistent 3) colloguial 4) trivial
6- The police wondered about the man’s -~—-———-- for committing the crime.
1) inhibition 2) motive 3) impact 4) inspiration

7- While most club members have agreed with the decision, I expect Ricky to -——----
forcibly.

1) dissent 2) vanish 3) avoid 4) abate

8- “It is my firm -—-—-—u- ' said the candidate, "that family farms must receive
government help.”
1) speculation 2) safeguard 3) conviction 4) deprivation

9- You’ll have a better chance of finding that unusual word if you look it up in a/an
uuuuuu dictionary.
1) skilled 2) publicized 3) cultured 4) unabridged

10- Because the hikers planned to reunite at 4:00 P.M., they paused to --—------ their
watches,
1) illuminate 2) reinforce 3) synchronize 4) chronicle

PART B: Cloze Passage

Directions: Read the following passage and decide which cheice (1), (2), (3), or (4) best

fits each space. Then mark your answer sheet.

Herbicides, also commonly known as weed killers, are pesticides used to kill unwanted plants.
Selective herbicides kill schif'L targets, (11) =—=mmmem—- the desired crop relatively unharmed,
Some of these act by interfering with (12) -—===-=s-- and are often synthetic mimics of natural
plant hormones. Herbicides used to clear waste ground, industrial sites. railways and railway
embankments are not selective (13) === all plant material with which they come into
contact. Smaller quantities are used in forestry. pasture systems., and management of areas
(14) ————- as wildlife habitat.

Some plants produce natural herbicides. (15) -=--—--——- the genus Juglans (walnuts). or the
tree of heaven: such action of natural herbicides, and other related chemical interactions, is
called allelopathy.

11- 1) they leave 2) when left with 3) while leaving 4) by leaving
12- 1) the weed of growth 2) the growth of the weed
3) the weed in growing 4) the growing of weed

13- 1) and kill 2) killer of 3) to kill 4y which kill
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14- 1) where set aside 2) in which they are set aside
3) that set aside 4) set aside
15- 1) either 2) such as 3)or 4} includes

PART C: Reading Comprehension

Directions: Read the following five passages and answer the questions based on what is

stated in the passage by choosing the best choice (1), (2), (3), or (4) and then mark the
| correct choice on your answer sheet.

PASSAGE i:

In view of the steadily increasing shortage of water worldwide. the use of reclaimed
wastewater will be an issue of growing concern in the next decade. Since two-thirds of the
world water consumption is used to irrigate cropland, there are several instances in developing
countries where raw domestic sewage of very large cities is directly re-used to irrigate feed
crops. Such a close-loop system brings about the possibility of contaminating of the food crops
with pathogenic viruses. It i1s a major challenge to work out cost-effective technologies to
produce hygienically safe irrigation water without removing the fertilizers N and P.

16- From amongst the following what would be the most appropriate title for the above

passage?
1) Water recyeling 2) Water consumption
3) Water irrigation 4) Water treatment
17-  According to the passage, raw sewage can be used for crop irrigation when —-—,
1)it's N and P are removed 2) a closed loop system is used
3) a low cost technology is employed 4) it's pathogenic viruses are eliminated

18- According to the passage:
1) It is a major challenge to remove N and P from wastewater.
2) A closed-loop system in wastewater recycling is undesirable.
3) Reclaimed wastewater is responsible for worldwide water shortage.
4) Two-thirds of water consumption in developing countries is used for irrigation.

PASSAGE 2:
Public perception of biotechnology can have pronounced effects on the timing and direction of
innovation, and on rates of uptake or discarding of technology. its products and services. Public
perception can be area- or region-specific (e.g. North America, South-east Asia, etc.) and will
be dependent on several variables, namely:
* Economic affluence
- Level of education
- Cultural or religious values and traditions, and
- Social and institutional ways of participation
19-  According to the above passage the way people think about biotechnology depends
on:
| ) whether they are living in North America or South-cast Asia
2) the population of community
3) where they are living
4) the area of the region
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20-  Which of the following words is nearest in meaning to the word affluence as used in
the above passage?

| ) abundance 2) growth 3) perception 4) prosperity
21- The phrase "discarding of technology" refers to -——---—-- technology.

1) expensive 2) low 3) unaccepted 4)unfair
PASSAGE 3:

Various organic acids are accumulated by several eukaryotic and prokaryotic microbes. In
anaerobic bacteria, their formation is usually a means by which these organisms regenerate
NADH, and their accumulation therefore strictly parallels growth. In aerobic bacteria and
fungi. in contrast, the accumulation of organic acids is the result of incomplete subsirate
oxidation and is usually inflated by an imbalance in some essential nutrients. i.e. metal ions,

22-  Anaeobic bacteria accumulate organic acids —-—----- ;
1) after they die 2) before they start growing
3) as they are growing 4) after they have stopped growing

23- Which of the following statements about the accumulation of organic acids by
microbes is COMPLETELY CORRECT?

1) Aerobic bacteria and fungi accumulate organic acids in the same way

2) Aerobic and anaerobic bacteria accumulate organic acids similarly

3) Aerobic bacteria accumulate organic acids by producing NADH.

4) Aerobic bacteria accumulate organic acids by substrate oxidation,
24- The word "imbalance" refers to

1) inadequate metal ions 2) unequal nutrients
3)unsuitable nutrients 4) necessary metal ions
PASSAGE 4:

In the fermentation industry. many microbes are used for production of metabolites such as
acids, alcohols, amino acids, enzymes and antibiotics. For food processing. fermentation
products such as citric acid, acetic acid and glutamate are [requently used. For these
fermentations, submerged culture in fermenters is aimed at production of one particular
product. In food fermentations, vegetable or animal products are fermented by indigenous
mixed microflora or by added starter cultures to improve shelf life, nutritional value, flavor
and/or physical properties.

25-  Metabolites are compounds—----,
1) used in processing food
2) formed in processing food
3) used by microbes during fermentations
4) formed by microbes during fermentations

26- The word "submerged" refers to cultures growing —------------- liquid media.
| ) inside 2) outside
3) under 4) on the surface of

27- Indigenous mixed microflora are microbes ----=-ceeeeee-- .

1) added to food products

2) added to starter cultures

3) naturally present in starter cultures

4) naturally present in agricultural products
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PASSAGE 5:

Synthetic biology is considered as an emerging research field that will bring new opportunities
to biotechnology. There is an expectation that synthetic biology will not only enhance
knowledge in basic science but will also have great potential for practical applications.
Svnthetic biology is still in an early developmental stage. To meet the increasing demand for a
sustainable development. research on genetic circuits 1o harness biomass is the most pursued
research within researchers. The environmental concerns are driven force of research on the
genetic circuits for bioremediation.

28- Synthetic biology -——-----—--—-—-
1) is an established rescarch 11E|d in biotechnology
2) can have practical applications
3) is based on experimental result
4) is a basic science
29-  Genetic circuits are —--———--—-—,
l) a research area in synthetic biology
2) a tool in sustainable development
3) another name for synthetic biology
4) an environmental concern

30- Research activity in synthetic biology is focused on --------—-— /
I) bioremediation 2) environmental problems
3) the use of biomass 4) sustainable development
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